
Nombres Décimaux (D)
Trouvez chaque différence.

0,86 - 0,38 = 41 - 0,91 =

1,5 - 0,68 = 55 - 1,9 =

2,6 - 0,99 = 36 - 8 =

55 - 8,9 = 4,7 - 1,1 =

2,3 - 0,94 = 73 - 3,4 =

7,7 - 0,78 = 0,38 - 0,38 =

1,3 - 0,16 = 63 - 8,5 =

3,9 - 1,4 = 8,3 - 0,42 =

87 - 0,94 = 4,6 - 0,36 =

64 - 0,58 = 1 - 0,56 =
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Nombres Décimaux (D) Solutions
Trouvez chaque différence.

0,86 - 0,38 = 0,48 41 - 0,91 = 40,09

1,5 - 0,68 = 0,82 55 - 1,9 = 53,1

2,6 - 0,99 = 1,61 36 - 8 = 28

55 - 8,9 = 46,1 4,7 - 1,1 = 3,6

2,3 - 0,94 = 1,36 73 - 3,4 = 69,6

7,7 - 0,78 = 6,92 0,38 - 0,38 = 0

1,3 - 0,16 = 1,14 63 - 8,5 = 54,5

3,9 - 1,4 = 2,5 8,3 - 0,42 = 7,88

87 - 0,94 = 86,06 4,6 - 0,36 = 4,24

64 - 0,58 = 63,42 1 - 0,56 = 0,44
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